Lounung In nawes
- pages 149-151

1. a) This shows 1 whole and 1 half.
This is 1.
2 (circled)

b) This shows 3 wholes and 0 halves (or 0 wholes and
6 halves).

This is 3 (or §).
3 2 (circled)

2. Missing numbers:
a) 2 % 3, 3%

b) 4, 4 % 5
c) 83,993

3. Children should have completed the table as follows:
Top row: 1st cell - blank, 4th cell - 1 %sweets (drawn)
Bottom row: 3rd cell - 1, 5th cell - 2

4. Missing numbers: 2,22,3,3 2, 4,43,5

5. Children could have explained the mistakes in
different ways, e.g.
a) Maya has missed out 2% and 3.

b) Bob has missed out 5 2.

Children could have explained their reasoning in
different ways, e.g.

| know the next number is 2 % because the sequence is
going up in halves.

| know the next number is 2 2 because if you add 2 to 2
that gives 2 2.



